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(a) BHM

Weather
x Favorable
x Intermediate
Unfavorable
0 1 2 3 4 5 6 7
NOz (ppbv)

O3 (ppbv) =20.84 + 13.05 * NOz (ppbv); R*2 =.7
03 (ppbv) =23.97 + 12.15 * NOz (ppbv); R*2 = .5 (favorable)

(c) JST

Weather
x Favorable
x Intermediate
Unfavorable
0 1 2 3 4 5 6 7
NOz (ppbv)

O3 (ppbv) =11.37 + 14.82 * NOz (ppbv); R"2 = .84

O3 (ppbv)

O3 (ppbv)

03 (ppbv) = 11.53 + 14.48 * NOz (ppbv); R*2 = .82 (favorable)
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40 A

20 1

Weather
x Favorable
x Intermediate
Unfavorable
0 1 2 3 4 5 6 7
NOz (ppbv)
O3 (ppbv) =16.46 + 25.73 * NOz (ppbv); R"2 = .61
03 (ppbv) = 16.38 + 25.8 * NOz (ppbv); RA2 = .53 (favorable)
(d) YRK
Weather
x Favorable
x Intermediate
% Unfavorable
0 1 2 3 4 5 6 7
NOz (ppbv)

O3 (ppbv) =19.47 + 18.78 * NOz (ppbv); R"2 = .81
03 (ppbv) =21.71+ 17.6 * NOz (ppbv); RA2 = .75 (favorable)



